) 11 30
(94~96)
37,000,000 22,000, 00
97 21,000, 000
35,000, 000 6 0%
40% 14,000, 000
()
96
97 () 9% 11 23 (
11 30
()
97
97
() 40% 14,000,000 1,400,000
15,400,000
()
() (%) () (%)
6,750,000 48.21 491,000 35.07
2,780,000 19.86
(1) 500,000
2
@) 2,280,000
580,000 4.14 491,000 35.07
(1) ) 300,000 250,000
2) ) 100,000 100,000
3 ( 180,000 141,000

0

14, 00 (

21,

0



300,000 214

4. 2,000,000 14.29
(1) 2,000,000
5. 400,000 2.86
6. 600,000 4.29
7. 30,000 0.21
8. 60,000 0.42
700,000 5.00
() 420,000
280,000
280,000 2.00
) ( 2,164,000 15.46
4,106,000 29.33 909,000 64.93
4,106,000 909,000 64.93
14,000,000 100 100
( ) 97 21,000, 000 14, 000,

60% 21,000, 000
40% 14,000, 000

( ) 96
10 %
( ) 1,400,000

( ) 97 ( ) 15,400, 000
$2,780,000 19.86% $0 0%
( $580,000 4.14% $491,000 35.07%
30% ) $300,000 2.14% $0 0%
$2,000,000 14.29% $0 0%
$400,000 2.86% $0 0%




$600,000 4.29% $0 0%
$30,000 0.21% $0 0%
$60,000 0.42% $0 0%
$6,750,000 48.21% $491,000 35.07%
$700,000 5.00% $0 0%
5%
$280,000 2.00% $0 0%
2% )
$2,164,000 15.46% $0 0%
$4,106,000 29.33% $909,000 64.93%
$14,000,000 100% $1,400,000 100%
97
97
() 60% 21,000,000 21,000,000
42,000,000
()
1.
1)
(2
(€©)
(4)
)
2.
(1)
(2
(€©)

(4)




()

()

A wDd PR

(5) C )

42,000,000
( 10%)
97
6,000,000
3,100,000
420,000 206)
- 1,500,000
A 42,000,000
B1 6,000,000
B2 860,000
B3 3,100,000
B4 1,500,000
B5 600,000
A- B1+B2+B3+B4+B5 C
Fl= C*0.5/12
C

C=42,000,000-12,060,000=29,940,000
C/2=14,970,000

F1=0.5*C/12 12
F1=C*0.5/12=14,970,000/12=1,247,500

(

206)

600,000

kkhkkhkkkhkkhkkhkkhkkhhkhkkhhkhkkhhkhkkhhkhkkhhkkhkhkkhkhkkhkhhkhkhhkhkhhkhkhhkhkhhkhkhhkhkkhhkhkkhhkhkkhkhkk khkkhkkkikkkx*x*x

5.

(1) 2,354,000 )
3) 2,354,000 (4)
(5) 2,422,000 (6)

©) 2,478,000 (8)
(9) 1,877,000 (10)
(11) 1,837,000 (12)

3,868,000
2,729,000

3,176,000
2,416,000
2,537,000
1,892,000

Rk R R e e R bk e R R R R R e R o b R R R R o o ok R R e R R R Rk ke o b b o



F2 0.5*C/12( )
F F1+F2
=49,000
=45,000
50
D1 DECL * Pe+ DCCL:* Pc = Del+ Dcl
Del DECL * Pe
Dcl DCCL:* Pc
Pe =49,000* 50=2,450,000
Pc =45,000* 50=2,250,000
Del=2,450,000* 65=159,250,000
Dc1=2,250,000* 25=56,250,000

D1 =2,155,000,00
90
DECL: =65 DCCL: =25
B R
=32,000
=28,000
D2 NECL * NPe+ NCCL * NPc = De2+ Dc2

De2 NECL *NPe
Dc2 NCCL:*NPc

50
NPe =1,600,000
NPc =1,400,000
56
NECL: =32 NCCL: =24
De2: 1,600,000* 32=51,200,000
Dc2: 1,400,000* 24=33,600,000
B R
D2 De2+ Dc2=84,800,000
De3 HECL *H Pe
Dc3 HCCL:*H Pc
=32,000 =28,000
50
35
HECL.: =12 HCCL: =23

HPe: =32,000*50 1,600,000

HPc: =28,000*50 1,400,000
De3=1,600,000* 12=19,200,000
Dc3=1,400,000* 23=33,200,000



D3=52,400,000

Rk R R e R o b ke R R R R R e e e R o b R R R R R o o R R e R R R Rk ke o b b o

Del =159,250,000

Dcl= =56,250,000

De2: =51,200,000

Dc2: =33,600,000

De3= =1,600,000* 12=19,200,000

Dc3 =1,400,000* 23=32,200,000

D D1+ D2+ D3 215,500,000+84,800,000+48,600,000=351, 700,000

Rk R e R o b ke R R R Rk e e R o b o R R R o o kR R e R R R Rk ke o b b o

F2 0.5C* (16*Del/65+ 10* De2/32+ 3*De3/12)/D
F2 2,620,500
F1= 1,247,500
16 10 3
F 3,868,000

Rk R R e b ke R R Rk e e e e R o R R R R R o o kR R e R R R R R kR e o b

F2 0.5C* (6*Dcl/25+ 6* Dc2/24+

5*Dc3/23)/D
F2 1,230,500
F1=1,247,500
F 2,478,000
6 6 5

Rk R R R o o R R Rk e e e R o R R R R R R o o ok R R e R R R Rk ke o b b o

F2 0.5C* (8*Del/65+ 4* De2/32+
0*De3/12)/D
F2 1,106,500
F1=1,247,500
F 2,354,000
8 4 0
khkkhkkkkhkkkhkhkhkkhkkhkhkkhkhkhkhkkhkhkkhkhhkhkkhkhkkhkhhkhkkhkhkkhkhhkhkkhkhkkhkhhkhkkhkhkkhkhkkhkkkhkkkkkkkkk*%
F2 05C* (4Dcl/25+ 6* Dc2/24+ 8* Dc3/23)/D
F2 1,168,500
F1=1,247,500
F 2,416,000
4 6 8
khkkhkkkkhkkkhkhkhkkhkkhkhkkhkhhkhkkhkhkkhkhhkhkkhkhkkhkhhkhkkhkhkkhkhhkhkkhkhkkhkhhkhkkhkhkkhkhkkhkkkhkkkkkhkkkk*%
0.5C * (8*Del/65+ 4* De2/32+ 0* De3/12)/D
F2 1,106,500
F1=1,247,500
F 2,354,000



8 4 0
Rk R R e R o b ke R R R R R e e e R o b R R R R R o o R R e R R R Rk ke o b b o
F2 0.5C* (4*Dcl/25+ 3* Dc2/24+ 1* Dc3/23)/D
F2 629,500
F1=1,247,500
F 1,877,000
4 3 1
Rk R R e R o b ke R R R R R e e e R o b R R R R R o o R R e R R R Rk ke o b b o
F2 0.5C *(10* Del/65+2* Dc1/25+4* De2/32+0* De3/12)/D
F2 1,481,500
F1=1,247,500
F 2,729,000
10 2 4 0
Rk R R e R o b ke R R R R R e e e R o b R R R R R o o R R e R R R Rk ke o b b o
F2 0.5C* (6* Dcl/25+ 6* Dc2/24+6* Dc3/23)/D
F2 1,289,500
F1=1,247,500
F 2,537,000
6 6 6
Rk R R e o o b ke R R R R e e e R R R o R R R R R ok kR e R R Rk ke e o R
F2 0.5C* (8*Del/65+4* De2/32+1* De3/12)/D
F2 1,174,500
F1=1,247,500
F 2,422,000
8 4 1
Rk R e R o kR R R R e e R R R R R R R R ok kR R e R Rk ke o b
F2 0.5C* (5*Del/65+0* De2/32+1* De3/12)/D
F2 589,500
F1=1,247,500
F 1,837,000
5 0 1
Rk R R e R o b ke R R R R R e e e R o b R R R R R o o R R e R R R Rk ke o b b o
F2 0.5C *(10* Del/65+6* De2/32+7* De3/12)/D
F2 1,928,500
F1=1,247,500
F 3,176,000
10 6 7
Rk R R e R o b ke R R R R R e e e R o b R R R R R o o R R e R R R Rk ke o b b o
F2 0.5C *(3*Dcl/25+3* Dc2/24+3* Dc3/23)/D
F2 644,500



(

)

F1=1,247,500

31,500,000

F 1,892,000
3 3 3
1.
2.
3.
) ()
) 97 21,000,000 14,
35,000,000 60% 21,
40% 14,000,000
( ) 96
10 %
( ) 21,000,000
( ) 97 ( ) 42,000,000
() 179
001-00~179-00 24,750,000 5
001-00~005-00 560,000 3,940,000
20 001-00~020-00 750,000
18 001-00~018-00 150,000

000,
000,
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